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Instructions:  

!"#$% 

!"&$% 

'()*+,-./0(0*12+3(4(-/(56(73+(/8(,9/3-(70,:+3(-;<+=( 

((((> 4 ? 56 @ABCD@E 

((((> 4 ? 56 FABCDFE 

'((G7H9(I*+,-./0(H733.+,(46(173J,=( 

((((K@L 46 ME 

((((KFN 46 ME 

………………………………………………………………………………………………………… 

1) 

Fill in the missing numbers to complete the pattern: 
OPQRSTUVWXYZ[\]^E 
_PQRS`UaWXYZb\]^E 

    

…………………………………………………………………………………………………………………  
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2)  
 
After how many minutes will the clock show 12:50? 
OcdeMfgXfhij 45%k6l 

_mdeMnoXnpqj 45%k6l 

 
 

…………………………………………………………………………………………………………………  

 

3)  

How many wheels do 5 four-wheelers have? 

Oc krstuvwdexty 

_m krsz{vwde|zy 

…………………………………………………………………………………………………………………  
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4)  

Look at the image and fill in the blank. 

}~����X����QPQ��D�E 

�~����X����QPQ��D�E 

 

 

2 +2 + 2 + 2 + 2 = ____ x ____ 

……………………………………………………………………………………………………………….  

 

5)   

How much should be subtracted 56 kg 200 grams to get 34 kg 300 grams? 

Oc��� k� �� 566 ���deX��Z� �� �� �66 �y 

_m��� k� �� 566 � �deX��Z� �� �� �66 �y 

……………………………………………………………………………………………………………… 

6)  

Calculate 34 meters + 200 centimeters + 50 meters.  

O¡¢ �� £(¤(566(¥£(¤(k6 £E 

_¦¢ �� £(¤(566(¥£(¤(k6 £E 
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……………………………………………………………………………………………………………… 

7)  

Convert 2000 milliliters to liters. 

§ 5666 ¨©ª«]©E 

§ 5666 ¨©¬­]©E( 

……………………………………………………………………………………………………………… 

8)  

Maria bought 46 pencils from the stationary shop.  She distributed 28 in her class and gave 4 
pencils to her younger sister. How many pencils had she left? 

®¯°�±²³´µ �� ¶·¸X¹§º» 5¼ M½¾¿QUÀÁX§s¶¾µ¹U

ÂÂEOc¹Ãwde¶·¸y 

Ä¯Å�±²³Æµ �� ¶ÇÈX¹§º» 5¼ M½É¿QUÀÊX§s¶Éµ¹U

ÂÂE_m¹Ëwde¶ÇÈy 

……………………………………………………………………………………………………………… 
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9)  

What is the value of           ?  

Oc(((((((((UVÌBÍÎy( 

_m(((((((((UaÌBÍÏy 

 

      – 23 = 25 

……………………………………………………………………………………………………… …………  

10) 
 
Which of the following is 6 fours? 
Oc��ÐÑÒB �xsy 

_m��ÐÑÓB �|sy 

(a) 23 
(b) 6 x 4 
(c) 6 + 4 
(d) 4 +4 + 4+ 4 + 4 

……………………………………………………………………………………………………… ………… 

11)  

A shopkeeper sells oranges in bags of seven. If he sold 9 bags, how many oranges did he sell 
altogether? 

ÑÔ³Õ�Öx×ÑØÙÚÛXÜÝÛµÞØXOcÝÛ�µdexÙy 

ÑÔ³ß�Ö|àÑØÙÚáXÜÝáµÞØX_mÝá�µde|Ùy 

………………………………………………………………………………………………………  
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12)  

Find the mid value of the following: 7, 7, 1, 1, 1, 2, 5 
Oâ���VWU»ãVäåæ(åæ(4æ(4æ(4æ(5æ(k 
_â���aWU»çaäåæ(åæ(4æ(4æ(4æ(5æ(k 

………………………………………………………………………………………………………  

13)  

Carey has 20 packets of pencils. Each packet has 8 pencils. How many pencils did he buy in total?  

è`w 56 é·¸XKéw ¼¶XOcÝêvwde¶·¸y( 

è`w 56 éÇÈXKéw ¼¶X_mÝëvwde¶ÇÈy 

………………………………………………………………………………………………………  

14)  

Find the sum by rounding each of the following numbers to the nearest ten: 
Oìí§VWîïðU 46 ñVXâ�òxVWóôE 

_ìõ§aWîïðU 46 ñaXâ�ö|aWóôE 

 

………………………………………………………………………………………………………  

15)  

There are 15 shelves of books in a library. Each shelf has 8 books. How many books are remaining 
in the shelves if 17 books are borrowed by students? 

Ñx�÷øw 4kxùXKxùw ¼ú÷EOc� 4åú÷ûÁ"üýþX�÷ø

TÃwdeú÷y( 
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Ñ|�ÿ!w 4k |"XK|"w ¼úÿE_m� 4å úÿûÊ"üý#X�ÿ!`

Ëwdeúÿy 

……………………………………………………………………………………………………… 

 

16)  

A box of chocolates weighs 3 kilograms. If each chocolate weighs 50 grams, how many chocolates 
are in the box? 
Ñ$%&'( � ��E)*K+%&'( k6 �XOc,x$T-wde%&'y 

Ñ$%&'( � ��E)*K.%&'( k6 �X_m,|$`-wde%&'y 

……………………………………………………………………………………………………… 

17)  

Tom has a rope that is 64 meters long. He cuts off four equal pieces and joins all the pieces to form 
a quadrilateral. Guess the name and each side of the formed quadrilateral? 

/0wÑ1 �� £2U3EÝ§34]µ �5Ñ62U3X�§7839]Ñxs

:;EO<�7s:;BÍÎX�=K1:U:2E 

>0wÑ? �� £@UAEÝ§A4]µ �5ÑB@UAX�§C8AD]Ñ|s

E;E_<�CsE;BÍÏX�=K?EUE@E 

…………………………………………………………………………………………………… 



8  

18)  

A bucket is full of 20 litres water. It is telling about its ___________.  

ÑxFGHµ 56 ©IE7xJK�LM,xFUNNNNNNNNNNNE 

Ñ|OPQµ 56 ©IEC|RS�TM,|OUNNNNNNNNNNNE 

(a) Weight (U((U 

(b) Length 2V(@V 

(c) Capacity WU(WU 

(d) None of these �QXY(�QXY   

…………………………………………………………………………………………………… 

19)  

 
Write the following in ascending order. 

§���Z[\]�E 

§���Z[\^�E 

2m, 100cm, 300cm 

5 £X466 ¥£X�66 ¥£ 

5 £X466 ¥£X�66 ¥£ 

…………………………………………………………………………………………………… 
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20)  
      ____ groups of 3 are the same as 30.    

(((((NNNN9 � ô �6 BÑ6UE 

((((NNNND � ô �6 BÑBUE 

…………………………………………………………………………………………………… 

END OF PAPER 


